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w
Fipan g Bl

R _u“asin(2><45"}__u2
max =~ —
g g

= 8090 _ 5600/3 = 3484m
J3

aa: Al B I TS T | 5000 m B G 9F TE qON A GFN 2

WE 30. W TERG YR 1.5 km $1 S9E W 720 kvh B =6 ¥ S fewn 3
o5 @ ¥ ol vt argam A A ¥ I TR Y TR &) Feaiar 3 9 W e
W TR A IR 600 m/s T SE ¥ TN AT T g W AR §X 67

AR F TIE P FE O S W g B IgEn e s e e &
T WH? (g = 10m/s?)

T TP wg T 47 {v) = 720 km/h
=720 % > m/s (1 km/h=2 mls)
18 18
=200m/s

TG WEA B A (H)=15km = 1500m
M i 91 = 600 m/s




A A9 | T R | 0 BV W SFN 9 § 9 ¢ 99Y 9IS Wiz 9
=TI Bl T A T B AR 9B u,) =using

TR} ) AT B FEER TEF (1) = ucose
/| el Ve W <o) ® 96
wEw g 99 A T afos ot = Tt gR T Afv
v Xt =using xt
200 xt = 600sin@ x t

=sin195°
g 0 =195°
¥G: TR | TR P e A & e wsEkR ¥ 19.5° 9 W SE S 9y

ASIP VR, I W) A F N ¥ 99 W g, IR S S i gy
U HETH HUE F TOET A I 0T Al

1y UPsin®(90° - 8) _ uZcos®e
29 2g
_ (600Y°cos?185°
2x10

(v8Y e , ,_{ 1
SOOXBOOX[?] .cose-\h—smi'e- 1—5

20 8

=30x600><8
9
= 16000m = 16km
30 FYRR Sig B AT A A | 2w T O @ 79 & R EEm 16km
$aE W Ig =Rl
WE 31. T WERA WAR 27 kvh T I X QnRES o w98 @ uew
W % 80 m i & i g wowdsa 2, w% 9w o € ol ot am @

0.5 mfs I THEA X Y 9 IR A1 21 T W W ORiEe 9aR F T wu w
it S s fm P

T 9EfFa R @ 99 (v) = 27 km/h
=27 x 3 nvs [1 km/h=3 mls)
18 18

= m]s

15
2




i Airg & e ()= 80m

IR T e WY WY R WY deae A el e §
: RO R 8 = fa2 + 8f
= J049+ 025

=074 = 086 m/s?
I wRvwd oo 3 i e d o T IR 9/

= 1an54°28"
6= 5428
TH 32, )i s i va s omagmsmsTdeSIuH
G F G ¥ 0 H i TER | aa A
t=tan"t22 =&

Uox

® ﬁzaﬂﬁqﬁswﬁg%ﬁmﬂwﬁwmm=mn'l(iﬁéﬂ)

T =t v Wit 3 avd W

T (a) T O T vy 3T W AR | 6 B 9r vafa R o 21 Wi
31 S AR T SRR UTH v, T vg, B
T R ¢ W 91g g A Wl
g p & 3

Viy =Vox (- @R Rwr A o5 w=w T4 1)

g P R TR I

Vig =voy —Of




Ry g P W aROmf T 31w | 0 P T B, T

R

v
tangt) = X
Vex

Yoy m gt
Vox

sy o) = tan“[vo”——gt_]
Yox

(b) WEYT BRI WIS HETH SETg

_ u?sin2g,

m =g

2.
¥R e () = 00 28

u2

]
i () B W (i) ¥ 9 A W,
. 2.2
o wa g g, by 7SN, O
R 2g u° x 2sinBycosty
_ _SinBg
4cos6g
tan@y = 4—h‘m—
R

a9 = tan‘Tm)
A

X 2sinBycosty




	1-100 + contents
	101-200
	Blank Page
	Blank Page
	Blank Page



